HECKENSCHERE  GT259-----
TYPE 1

GT246 GT249 GT250
GT259 GT260

i
ly Qg J

N P

@ oz

k ‘{
T-
= P
—

i g ) ¥V

\

110

E12044.TIF




HECKENSCHERE

GT259-----A

TYPE 1

Fos 'I\El:satzteilnummer Beschreibung Preis Variants

101 1 571299-20 MOTOR ZSB

102 2 372523 KOHLE

103 1 370906-06 MESSER ZSB 16" GT252

103 1 370906-06 MESSER ZSB 16" GT249-GT250-GT251
103 1 370906-06 MESSER ZSB 16" GT246

103 1 370906-08 MESSER ZSB 20" GT259-GT260-GT261
104 1 000000-00 NICHT MEHR LIEFERBAR GT259-GT260-GT261
104 1 000000-00 NICHT MEHR LIEFERBAR GT252

104 1 000000-00 NICHT MEHR LIEFERBAR GT249-GT250-GT251
104 1 000000-00 NICHT MEHR LIEFERBAR GT246

105 5 371954-01 BOLZEN GT259-GT260-GT261
105 4 371954-01 BOLZEN GT249-GT250-GT251
105 4 371954-01 BOLZEN GT246

105 4 371954-01 BOLZEN GT252

106 5 798755 MUTTER M5 GT259-GT260-GT261
106 4 798755 MUTTER M5 GT249-GT250-GT251
106 4 798755 MUTTER M5 GT246

106 4 798755 MUTTER M5 GT252

107 6 368429 DISTANZSCHEIBE GT246

107 6 368429 DISTANZSCHEIBE GT252

107 7 368429 DISTANZSCHEIBE GT259-GT260-GT261
107 6 368429 DISTANZSCHEIBE GT249-GT250-GT251
108 1 370908 GETR.GEH.ABDECKUNG

109 2 798754-03 BOLZEN

110 10 747329 SCHRAUBE

111 1 370927 PLATTE

112 1 370930 GETR.GEH.

113 1 370902 ACHSE

114 1 370932-01 LITZE GRAU GT252

114 1 370932-01 LITZE GRAU GT250/251/260/261
115 1 370932-09 LITZE 55 MM

116 1 370932-03 LITZE 200MM ROT

117 1 370932-04 LITZE ROT GT252

117 1 370932-04 LITZE ROT GT250/251/260/261
118 1 370932-05 LITZE 9OMM SCHWARZ

119 1 370932-06 LITZE 130MM BLAU GT250/251/260/261
119 1 370932-06 LITZE 130MM BLAU GT252

120 1 569036-00 AUFKLEBER GT246

124 2 823212 VERBINDUNG GT249-GT259

124 2 823212 VERBINDUNG GT246

125 1 373246 SCHALTER

126 1 000000-00 NICHT MEHR LIEFERBAR GT246

126 1 000000-00 NICHT MEHR LIEFERBAR GT249-GT259

127 1 806603 KABELTUELLE

128 1 000000-00 NICHT MEHR LIEFERBAR GT259

128 1 000000-00 NICHT MEHR LIEFERBAR GT252

128 1 000000-00 NICHT MEHR LIEFERBAR GT251

128 1 000000-00 NICHT MEHR LIEFERBAR GT250

128 1 000000-00 NICHT MEHR LIEFERBAR GT249

128 1 000000-00 NICHT MEHR LIEFERBAR GT261

128 1 000000-00 NICHT MEHR LIEFERBAR GT260

129 1 579955-00 WARNSCHILD

130 1 369147 HEBEL

131 1 000000-00 NICHT MEHR LIEFERBAR

132 1 370917 VERBINDUNG

133 1 000000-00 NICHT MEHR LIEFERBAR GT249-GT250-GT251
133 1 000000-00 NICHT MEHR LIEFERBAR GT246

133 1 000000-00 NICHT MEHR LIEFERBAR GT252




HECKENSCHERE

GT259---A

133 1 000000-00 NICHT MEHR LIEFERBAR GT259-GT260-GT261
134 1 370953-04 GEHAEUSE GT250 GT260 TYP3
134 1 370953-04 GEHAEUSE GT350 GT360 TYP3
134 1 370953-04 GEHAEUSE

135 1 806128 FEDER

136 1 370923-00 ANTRIEB

137 1 821070 KABELKLEMME

138 2 821057 SCHRAUBE

139 1 330048-04 KABELSATZ (EURO) XK

139 1 330048-33 KABELSATZ AU

139 1 330048-33 KABELSATZ NZ

139 1 573379-00 KABEL AR

139 1 330048-04 KABELSATZ (EURO) SE

139 1 330048-04 KABELSATZ (EURO) IT

139 1 330048-04 KABELSATZ (EURO) NL

139 1 330048-04 KABELSATZ (EURO) NO

139 1 330048-04 KABELSATZ (EURO) FI

139 1 330048-04 KABELSATZ (EURO) FR

139 1 330048-04 KABELSATZ (EURO) GR

139 1 330048-04 KABELSATZ (EURO) DE

139 1 330048-04 KABELSATZ (EURO) DK

139 1 330048-04 KABELSATZ (EURO) ES

139 1 330048-04 KABELSATZ (EURO) AT

139 1 330048-04 KABELSATZ (EURO) BE

139 1 808240-21 KABELSATZ GB

141 1 370925-03 SCHUTZ GT252

141 1 370925-03 SCHUTZ GT251-GT261

141 1 370924-00 SCHUTZ GT249/250/259/260
141 1 370924-00 SCHUTZ GT246

142 2 748636 SCHRAUBE

143 1 373883 ANSCHLUSSBLOCK

144 1 844840 SPRITZSCHUTZ GB

145 2 812171 SCHRAUBE

146 1 370915 SCHALTER GT250/251/260/261
146 1 370915 SCHALTER GT252

147 2 846076 KOHLEKASTEN

148 2 847709 FEDER

149 1 813244 VERBINDER




HECKENSCHERE

GT259-----A

125
grey 55mm (115)

S
@ —_—143
®
blue
brown
—139

red 200Imm (116)
[¢]
T
112
BLACK 90MM (118) 101
—118
COLOURKEY
ENGLISH |[ FRENCH ][ ITALIAN ][ GERMAN |
BLACK NOIR NERO SCHWARZ
WHITE BLANC BIANCO WEISS
BROWN BRUN MARRONE || BRAUN
BLUE BLEU BLU BLAU
RED ROUGE ROSSO ROT
YELLOW JAUNE GIALLO GELB
GREEN VERT VERDE GRUN
ORANGE ORANGE ARANCIO ORANGE
GREY GRIS GRIGIO GRAU
CLEAR KLAR

E12062.tif




